py [GeV/c]

6 < mqi.y Wy < 7GGV/02

7T < Mai- sy < 9G€V/02

9 < mgi.y Wy < 24 GeV/02
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0.400 £ 0.067 £ 0.032
0.475 £ 0.103 £ 0.055
0.591 £ 0.146 £ 0.062
0.387 £ 0.079 £ 0.047
0.344 £ 0.062 £ 0.036
0.215 4+ 0.046 £+ 0.022
0.180 £0.026 £ 0.015
0.137 £0.024 £ 0.010
0.084 £ 0.010 £ 0.006
0.054 £ 0.007 = 0.004

0.376 £ 0.064 £ 0.038
0.501 +0.114 £ 0.081
0.424 £0.131 £ 0.093
0.438 £0.126 £+ 0.087
0.324 £ 0.093 £ 0.068
0.369 £ 0.073 £ 0.050
0.253 £0.047 £ 0.033
0.188 £0.029 £ 0.020
0.108 £0.014 £ 0.011
0.048 = 0.006 £ 0.004

0.109 £ 0.038 £ 0.015
0.214 £ 0.070 £ 0.037
0.221 £0.073 £ 0.048
0.200 £ 0.081 £ 0.051
0.156 £ 0.067 £ 0.046
0.099 £ 0.054 £ 0.037
0.102 £ 0.042 £ 0.028
0.068 £ 0.030 £ 0.019
0.056 £0.017 £ 0.012
0.031 £ 0.009 £ 0.006




